Partner: Hector Matos

Question 2

Please refer to the formal syntax of the K language that is provided below.

Write:

· Two K programs with lexical errors.

· Two K programs with syntactical errors.

· Two K programs without lexical and syntactical errors.

1a.  K program without lexical and syntactical errors.

main () {

  int a = 5;      Declares a as type int and assigns it the value 5.
  int b = 10;      Declares b as type int and assigns it the value 5.
  int sum = 0;        Declares sum as type int and assigns it the value 0.
  int avg = 0;        Declares avg as type int and assigns it the value 0.
  sum = a + b;       Stores the outcome of the expression a + b into sum.
  avg = sum/2;       Divides sum by 2 and stores the outcome into avg.
}

1b.  K program with lexical errors.
main ~ () {    The lexical error here is the ~ symbol.  This does not exist in the K

                     language.
  int a = 5;

  int b = 10;

  int sum = 0;

  int avg = 0;

  sum = a + b;

  avg = sum/2;

}

1c.  K programs with syntactical errors.

main () {

  int a = 5;

  int b = 10;

  int sum = 0;

  int avg = 0;

  sum = a + b;

  avg = sum/2 //The syntactical error here is the absence of “;”.

}

2a.  K program without lexical and syntactical errors.

main () { /

  int x = 5;     Declares x as type int and assigns it the value 5.
  if (x > 10)      Checks the value of x to see if it is greater than 10.
      x = x + 1;      If x is greater than 10, then x is incremented by 1.

  else {      If x is not greater than 10 or equal to 10 then it decrements it by 1.

    x = x –1;

   }

}

2b.  K program with lexical errors.
main () {

  intt x = 5;      The type int is spelled incorrectly, there is an extra “t”.

  if (x > 10);

      x = x + 1;

  else {

    x = x –1;

   }

}

}

1c.  K programs with syntactical errors.

main () {

  int x = 5;

  if (x > 10);

      x = x + 1;

  else {

    x = x –1;       The syntactical error here is the absence of the “}”.

 }

